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	1
	Calculate, giving your answer in standard form correct to 3 significant figures.


1.52 ( 105 - 4.6 ( 104

    4.56 ( 10-2
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	2
	The distance of the Earth from the Sun at a particular moment is 93.5 million miles.

a
Write 93.5 million in standard form.

The distance of the Earth from the moon at a particular moment is 2.5 ( 105 miles.

b
Write 2.5 ( 105 as an ordinary number.

c
How many times further is the Earth from the Sun than it is from the moon?

Give your answer in standard form.
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	3
	a
Write down the value of


i
50

ii
4-2
b
Simplify






EMBED Equation.3


	4

	 FORMCHECKBOX 

	N2c/B
	

	4
	The area of the Earth covered by sea is 362 000 000 km2.

a
Write 362 000 000 in standard form.

The surface area, A km2, of the Earth may be found using the formula

A = 4(r2
where r km is the radius of the Earth.

r = 6.38 ( 103.

b
Calculate the surface area of the Earth. Give your answer in standard form, correct to 3 significant figures.

c
Calculate the percentage of the Earth's surface which is covered by sea. Give your answer correct to 2 significant figures
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	Express 0.327 ( 105 in standard form.
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	My computer can carry out 2.7 ( 108 calculations in one hour.

Work out how many of these calculations my computer can carry out in one second.

Give your answer in standard form.
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	7
	A US Centillion is the number 


A UK Centillion is the number 


a
How many US Centillions are there in a UK Centillion? Give your answer in standard form.

b
Write the number 40 US Centillions in standard form.
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	The diameter of an atom is: 
0.000 000 03 m.

a
Write 0.000 000 03 in standard form.

Using the most powerful microscope, the smallest objects which can be seen have diameters which are one hundredth of the diameter of an atom.

b
Calculate the diameter, in meters, of the smallest objects which can be seen using this microscope.

Give your answer in standard form.
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	Do NOT use a calculator for this question.

You must show all your working.

Work out 453 ( 73.
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	Mrs. Evans decides to take 863 students on a trip to Euro Disney.

They travel by coach.

Each coach can hold up to 51 students.

In this part of the question you MUST NOT use a calculator .

You MUST show ALL your working

a
Work out the smallest number of coaches Mrs. Evans should book so that all the students can go on the trip.

Each student has to pay £37 for the trip.

745 students decide to go on the trip.

In this part of the question you MUST NOT use a calculator.

You MUST show ALL your working

b
How much money is collected if all 745 students pay £37 each.

The trip actually cost £25 000

c
Use your calculator to work out the percentage loss that Mrs. Evans will make on the trip.
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	It takes 6 men 8 days to build a wall.



All the men work at the same rate.

How long would it take 4 men to build a wall the same size?
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	12
	Jugdev pays to see the Tigers.



It normally costs £2.40 but there is 20% off the price.

a
Work out how much he pays.

Jugdev then pays to see the Cheetahs.

It normally costs £2.70 but there is 

off the price.

b
  Work out how much he pays.
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	Cedric buys 12 pencils for £3.48.



Work out the cost of 20 pencils.
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	14
	Work out:

a
i  

of £9.60


ii  24% of 35 metres.

b
Change 

 into 

i  a decimal fraction,


  ii  a percentage.
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	15
	The same type of training shoes is advertised in three different shops.



Work out the cost of the training shoes in each of the three shops.
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	i  Write down two numbers you could use to estimate the answer to 


793 ÷ 21

ii
 Work out your estimate.
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	17
	Malika's father won £128.

He shared the £128 between his three children in the ratio 6:3:1.

Malika was given the biggest share.

a
Work out how much money Malika received.

Malika saved 

of her share.

b
Work out how much Malika saved.
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	18
	Frances see three different advertisements for jeans.



Work out the cost of the jeans in each advertisement.
i
Bobs

ii
Disco's 

iii
Sanjay's
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	Marcus see a motorbike advertised for £750.



This is the price after a reduction of 15%.

Work out the original price of the motorbike.
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	Use your calculator to evaluate:

560.3 ( 20.3
 (0.2 + 4.5)2
Write down all the figures on your calculator.
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	In this question you MUST use your calculator and you MAY write down any stage in your calculation.

Evaluate:
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	The diagram shows a metal box. 
The box is a cuboid.



a
Work out the volume, in m3, of the box

Shiftem deliver these boxes in the UK.

They charge £28.85 for each m3 of a box's volume.
b
Work out Shiftem's charge for delivering one of these boxes.

The weight of a box is 0.125 tonnes.

c
Write 0.125 tonnes in kg.

Le Goff deliver these boxes to Paris.

They charge 7.92 French francs for each kg.

d
Work out Le Goff's charge, in French francs, for delivering one of these boxes.

Le Goff deliver 50 of these boxes to Paris.

£1 = 8.85 French francs.

e
Work out Le Goff's charge, in £, for delivering the 50 boxes. Give your answer correct to the nearest £.
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	Michelle goes to France for her holiday.

She changes £80 into French francs.

The exchange rate is £1 = 9.50Ff

How many French francs should Michelle receive?
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	It normally takes Sylvie 20 minutes to drive to work.

One day Sylvie has to drive at half her normal speed.

How long does it take her to drive to work on that day?
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	Mustapha pays Income Tax at 22%.

He is allowed to earn £3 500 before he pays any Income Tax.

He earns £12 500 in one year.

Work out how much Income Tax he pays in that year.
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	Fatima has 35 CDs and tapes.

The ratio of the number of CDs to the number of tapes is 3:4

Work out how many CDs she has.
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	Shreena put £484 in a new savings account.

At the end of every year, interest of 4.3% was added to the amount in her savings account at the start of that year.

Calculate the total amount in Shreena's savings account at the end of 2 years.
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	Astrid bought a motor car for £10 000 on the First of January 1996.

It lost 15% of its value during 1996 and then 10% during every year from the First of January 1997.

Work out the value of the car on the First of January 1999.
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	Natalie measured the distance between two points on a map.

The distance she measured was 5 cm correct to the nearest centimetre. 

a
Write down the 

       i   least upper bound  of the measurement,

      ii   greatest lower bound of the measurement,

The scale of the map is 1 to 20 000

b
Work out the actual distance in real life between the upper and lower bounds. Give your answer in kilometres.
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	John is going to Spain on holiday.



He changes £190 to Spanish pesetas.

£1 = 183 pesetas.

a
i
Work out how many pesetas John gets.


ii
Write your answer to part (i) correct to 3 significant figures.

IN THIS PART OF THE QUESTION YOU MUST SHOW ALL YOUR WORKING 

The holiday costs £621.

John has to pay the £621 in 27 equal weekly amounts.

b
i
Without using a calculator, work out how much he must pay each week.


ii
Write down an approximate calculation you could use to check your answer.


  iii
Work out the answer to the approximate calculation
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	The diagram represents the surface of a lake in winter. The lake is shaded on the grid.



a
Estimate the area, in cm2, of the diagram that is shaded.

Each square on the grid represents a square with sides of length 100m.

b
Work out the area, in m2, represented by one square on the grid.

c
Estimate the area, in m2, of the lake.

In summer the area of the lake decreases by 15%.

d 
Work out the area ,in m2, of the lake in summer.
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	Some oil is spilt. The spilt oil is in the shape of a circle.

The circle has a diameter of 12 centimetres.



a
Work out the circumference, in cm, of the spilt oil. Give your answer correct to 1 decimal place.

The diameter of the spilt oil increases by 30%

b
  Work out the new diameter, in centimetres, of the spilt oil.
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